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RIE1 &2 (458)

In my opinion, | believe (prefer) (A oER - TIR).
(FEAH).

The first reason is that (g 1).

For example, (51 1).

The second reason is that (B 2).

For instance, (51 2).

That’s why I think (fiaf... H > DER 248 0 R 9).

i3 (6 0F)

NS

According to the announcement, the school is going to (FRR D ZEHNE
The man’s (woman’s) opinion is that (FEANYOER - FIR).

He (she) provides two reasons.

First, (BHE 1). (FFEAH 1).

Second, (B 2). (FEAH 2).

That’s why this man (women) agrees (disagrees) with this policy (i iff).
4 (6 0F)

The reading is about (S D £ 4 b V) which the passage defines as

(XEFhOFER - FIR).

The professor gives two reasons to illustrate this topic.

First, he (she) says that (EfAH11).
(FEAH 1).

Second, he (she) claims that (EAH12).
(FEAH 2).

Therefore, these examples clearly illustrate (Fi ).

).



RES5 (6 0F)

The man (woman) student has a problem that (FEAID 7 7L - /).
The other students discuss two solutions.
The first solution is that (Rl 1).

The second solution is that (FRTRSE 2).
| prefer the second (first) solution.
The first solution is not great because (B 1).

The second solution is better because (B 2).

That’s why | prefer the second solution (i ifi).

6 (6 0F)

The professor discusses (FF D T ).
He (she) used two examples to illustrate this idea.
The first example is (EAARH1 1),
He (she) says (RFEAH 1).
(FEAH 2).
The second example is (LA 2).
He (she) states (FFAH 1).
(FEAH 2).

These examples are presenting this professor’s opinion.



